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1. (a) State the relation between operator A and E. 1
RREF (FHTTOA) E S A-99 047 TS Sz FA |
(b) Find the value of Ae*, Given, h =1, ' 1

Ae* 93 T 57 T3 | e g, h = 1.

(c) State one assumption of interpolation. 1
L MEeR G ez Semy e |
(d) If A is an impossible event, what is the value of P(A)? 1

I A G35 wTg o 2, ST2CH P(A) T M T 9
(e) If A and B are two independent events, then PA/B)=? 1°
@Aﬁsqmmﬂﬁmmwpm/&:?

(/) If X and Y are two random variables, then under what
condition E (X -Y) = E(X)- E(Y)? 1

WX&?QY@WW@,W%‘WW
E(X-Y)=E(X)- E[Y) 2@ ?

(g) What is the mean of standard normal distribution? 1
AT 2T ST (7 1A o7 T R 9

(h) A sample mean is a —_ (Fill in the blank) 1
2T 1T @l — | (LR 2 <)

() Define Standard Error. 1
e T w1

() Give an example of a hypothetical population. 1
AP afeq 3l Twrmaet wts |

(k) Name any one of Random number tables, 1

Q (I @B qfores 1= @it T, corear |

() Null hypothesis is denoted by —, (Fill in the blank) 1
e 25t — wm e w1 27 (< <At <)
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2. If f(x) = ax? + bx + ¢, then show that A® Jf(x) is constant. Where
a, b and c are constants and x is variable.

T fx) = ax? + bx + ¢ T, SIEA GAIS @ A f(x) = #9F | (WA @, b 9.
C &F S X T 5 |

3. If f(x)=e”, then find A" f(x).
T flx) = e T, ORee AT f(x)-a T e T |

4. State clearly the Newton’s backward interpolation formula and
state its uses.

0T ~POIRS e RbT StEy T T IR SoEY A |

\

5. From thc following table, find f(2) :
Sitss I (A (293 T FefT T

b : 1 2 3 q 5]
fx) : 7 — 13 21 37

6. From the following five odd digits, three digits are selected at
random :

1, 3,5, 7,9
(a) Find all the possible outcomes.

(b) Find the probability of the sum of digits selected at random
is 13.

(Use without replacement method)
Acvs A6l wrp 1= e Balb aam wFega afm avyizees @
¢ Al y

1, 3,5,7,9

(a) A6 FEI=1F o1 ey e |

(b) Taffoe Fa1 RAnshm @erre 13 269 B #e T |
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7. Given that P(A)= 3, P(B)=1 and P(AU B)=23. Show that the

results are not correct. Find P(AuB), if A and B are
independent. 3

el WE PA)=4, PB)=7; @R PAUB)=Z. (I8 @ e

T wrug | AW A 8 B b Fog W =, O P(A L B)-93 [ ey
FCAl |

8. From the following probability distribution of a random
variable, find the value of (i) K, (i) E(X) and (iii) V(X) : 3

ANwa a3l e =icea W IGET AT (i) K, (i) E(X) 9R
(iti) V(X)-<93 T Fefq 3 -
X : 0

P(X = x)

ol
e
wl= W

1
8

9. The probability density function of a random variable X is
flw=Cl-x), 0<x<l
Find the value of

@) C

(i) E(X)

(i) V(X) | 3
GIT> JMoRT To1F X -9 FTOIRAR T8 FeTeiio Zeatl

flx)=C(l-x), D<x<l
(i) C, (ii) E(X) 9% (iii) V(X}93 I= @ i 1

10. For any two events A and B, show that
A 9 B @ A1 §fb 9671 &, OIS @@
P(AnB)<P(A)<P(Au B) 3
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11. If @f) X ~ B(n, p), then find (@rga ffa ) v(X). 3

12. Identify the following probability distribution and find mean
and variance of the distribution : 3

Ava TS IBAMH IS T @ I ME IR 2PRE T Fiofy T

1 42
X) = exp (- <=); — o< X < oo
S0 == exp (- )
13. Define statistic, parameter and sampling distribution. 3

afemfe, 215e @ 2AfSeam I%eT @ oA |

14. Explain large sample test for mean. 3
TR TCH IR 2w Q49 <5 e |

15. What do you mean by Statistical hypothesis, Null hypothesis
and Alternative hypothesis? 3

AFRS, T R [9g o5 =i § @39

16. Explain the goodness of fit by chi-square test. 3
T2+ AT T TG CIFST T AT |

17. State three advantages of sample survey over complete
enumeration. 3

oyl ot caies eifmf e it fRam Swa |

18. Evaluate
J'l dx
Y07 4 X2

by Simpson’s %rd rule and estimate the value of & and its error.

3+1+1=5
dx
1+ x

AR -7 JoHA FCAN GR 97 o & I |

Preepd gF-omR STTas AR jé -g9 W T I 93 @99

2
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19. A bag contains 5 white and 2 black balls. Another bag contains
4 white and 4 black balls. One ball is transferred at random
from the first bag to the second bag and then one ball is drawn
randomly from the second bag. What is the probability that the
selected ball from the second bag is black?

mﬁwﬁmsﬁwezﬁmmﬂﬁnwwﬁaﬁwmmmﬁﬁ
T <1 e | 239 AR (e AReid «Ffh 3¢ it T Be e
A 2= R GO A w3l o1 ARy @ zge | e o
CUTF (ICR CTSTT 4B I T4 STEE TS 23 2

20. Given (CrsHl w(R)
P(4)=3, P(B)=4 and P(An B)=1

Find (M scz)
() P (A-B)
(@) P(A/B)
(iit) P (B / A)
(iv) P (AB)

(v) P(AB)

21. Under what conditions binomial distribution tends to Poisson
and Normal distribution? If X follows Poisson distribution with
parameter A =2. Then find

() P(X>0)

(i) P(X>2)
S AT Relr 95, AT @ P ITCTA TR I7 2 A% <l
wawﬁﬂﬂmmem@m:gwm P(X >0)
(ii) P(X > 2)-a7 T fAiefy cay |
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22. A coin is tossed 400 times and it turned up head 230 times.
Test the hypothesis that the coin is unbiased. (Given that the
level of significance is 5%). 5
M T4 400 I| Toiea ficse FamCS 230 T 9 NS (o1 | @I e
e gesl® ~@rm 3041 | (cre =R TMefeer w 5%)

23. For a 2 x 2 contingency table (2 x 2 el s Tg)

a b
& d

show that (¥1e @)
2 _ N(ad — bc)?
“(@a+b)c+d(a+ab+d

where (@A) N=a+b+c+d. )

24. Explain about simple random sampling and stratified random
sampling. ' 3

SR 02T A5 @ TR Agfoess 2fR6qT 71 <01 B |

25. Draw all possible samples of size 2 by simple random sampling
(without replacement) from the population given by {2, 4, 6, 8}
and show that the sample mean is an unbiased estimate of
population mean and find its standard error. 5

QT G TR (2, 4, 6, 8 (AT W e 2ifewA (BFsZIem)
Taoq AR 2 Fgom aifen! fefy Fearaaz orre @ Afevexfa Ty afdy
T e[S FFaF IR 4T T+ T Fefy 3 |

%* ok %
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